
©I n2G0t1i9` sKaumtzaB ZSQoxfYt`wCaFr[eP BLfLACg.h f jAElPlI _r]imgihhtTsg vrmeJsOeErKvgeUd[.A d bMUakdder HwfiNtGhW TI[nQfWiMnYiCtbeY XPorxeP-_AQl[gweUbyrVa^.

Worksheet by Kuta Software LLC

Integrated Math 1

Test 0 Solving Basic Equations PRACTICE

Name___________________________________

Period____
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Simplify each expression.

1)  2p - p 2)  -4r - 6 - 2 + 4r

3)  11 + 7x + 15x 4)  -3(3m - 2)

5)  -6(1 + 4r) 6)  -19(n - 17)

7)  -3x + 2(x - 3) 8)  6(n + 7) + 9

9)  11 + 16(11 + 15n) 10)  -(2n - 2) - (n - 3)
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Solve each equation.  Must show all work to get credit.

11)  -27 = 9n
12)  

m
3

 = 
1

2

13)  -2 = 
p
1

 - 2
14)  -5r + 5 = 10

15)  2 + 
m
3

 = 0
16)  -4 = m - 2 + 2

17)  5(-5r - 4) = -70 18)  2m + 5m - 8 = 4 + 5m + 5m

19)  8 - a = 3a + 4 20)  -2(x + 5) = -14 - x

21)  -4(4 - 3n) - 3n = 2(5n - 4) - 5 22)  2(3x - 3) = -2(x - 1) + 4x
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Simplify each expression.

1)  2p - p

p

2)  -4r - 6 - 2 + 4r

-8

3)  11 + 7x + 15x

11 + 22x

4)  -3(3m - 2)

-9m + 6

5)  -6(1 + 4r)

-6 - 24r

6)  -19(n - 17)

-19n + 323

7)  -3x + 2(x - 3)

-x - 6

8)  6(n + 7) + 9

6n + 51

9)  11 + 16(11 + 15n)

187 + 240n

10)  -(2n - 2) - (n - 3)

-3n + 5
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Solve each equation.  Must show all work to get credit.

11)  -27 = 9n

{-3}
12)  

m
3

 = 
1

2

{
3

2
}

13)  -2 = 
p
1

 - 2

{0}

14)  -5r + 5 = 10

{-1}

15)  2 + 
m
3

 = 0

{-6}

16)  -4 = m - 2 + 2

{-4}

17)  5(-5r - 4) = -70

{2}

18)  2m + 5m - 8 = 4 + 5m + 5m

{-4}

19)  8 - a = 3a + 4

{1}

20)  -2(x + 5) = -14 - x

{4}

21)  -4(4 - 3n) - 3n = 2(5n - 4) - 5

{-3}

22)  2(3x - 3) = -2(x - 1) + 4x

{2}


